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QUESTION 1

Priority package is published in NOLS for:
A. selecled customers.

B. all customers.

C. no such software is published.

D. new feature availability.

Correct Answer: A

QUESTION 2

What is the GPRS multiframe structure?
A. 8-multiframe.

B. 51-multiframe.

C. 52-multiframe.

D. 53-multiframe.

Correct Answer: C

QUESTION 3

Define the sequence integrating the A interface:

A. Create Speech Channels, Create MTP, Create SCCP.
B. Create MTP, Create SCCP, Create Speech Channels.
C. Create SCCP, Create MTP, Create Speech Channels.
D. Create Speech Channels, Create SCCP, Create, MTP.

Correct Answer: B

QUESTION 4
Which protocol is used by subscription profile?
A. MAP.

B. PDP.
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C. GTP.
D. SFTP.

Correct Answer: B

QUESTION 5

In a Network where high LTE/HSPA Power is required, which feature should we implement?
A. High Speed Rail Handover.

B. Enhanced packet Scheduling.

C. Orthogonal Sub Channel for DHR.

D. Energey Efficient Coverage.

Correct Answer: D

QUESTION 6

Which protocol is Nokia\\'s propriatory in IP network?
A. SCTP.

B. UDP.

C. RTP.

D. BSSGP.

Correct Answer: C

QUESTION 7

Which coding scheme can support the maximum data rate for E-GPRS?
A. CS-1.

B. CS-4.

C. MCs-1.

D. MCS-9.

Correct Answer: D

QUESTION 8
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The timer for periodic location updating is defined in?
A. BSC.
B. SIM.
C. VLR.
D. HLR.

Correct Answer: A

QUESTION 9

The Feature Dynamic PCU Pooling is used with which type of PCUs?
A. Packet Abis PCU only

B. Legacy Abis PCU only

C. Both Packet Abis PCU and Legacy Abis PCU

D. Either Packet Abis or Legacy Abis PCU

Correct Answer: A

QUESTION 10
Nokia has promoted and supported the so called "Design for Services" Requirements. Why?
A. Design for Services are technical requirements to improve Nokia services and service pricing over competitors.

B. Design for Services are technical requirements to improve Nokia production time and pricing competiveness over
competitors.

C. Design for Services is a process to verify the quality of faulty field units in order to improve Nokia quality over
competitors for Pre P8 products.

D. Design for Services is a process to verify the quality of faulty field units in order to improve Nokia quality over
competitors for Post P8 products.

Correct Answer: A

QUESTION 11
What can the Nokia Multi-Operator Core Network solution in RG30 EPL1 offer?

A. CAPEX/OPEX savings via Network Sharing solution that allows sharing BTS equipment and BSC between the
operators.

B. CAPEX/OPEX savings can be achieved by a Network Sharing solution that allows sharing billing system between the
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operators.
C. CAPEX/OPEX savings can be achieved by a Network Sharing solution that allows unified roaming services.

D. CAPEX/OPEX savings can be achieved by a Network Sharing solution that allows unified coverage services by many
operators using a single micro SIM Card.

Correct Answer: A

QUESTION 12

Which network element is NOT included in Base Stations Subsystem?
A. BTS.

B. BSC.

C. Mobile Station.

D. Transcoder.

Correct Answer: C

QUESTION 13

While creating Signaling links in any BSC, it is recommended to configure them in below sequence for optimized
perfromance:

A. 1-2-8-14.
B. 8-12-14-16.
C. 2-4-8-16.
D. 4-8-12-16.

Correct Answer: C

QUESTION 14

The RG40 BSS GSM/DEGE release does NOT support which of the below HW NW elements?
A. Talk Family BTS, BSCi/ BSC2i, BTSplus BTS.

B. Horizon BTS, BSCi / BSC2i, BTSplus BTS.

C. Talk Family BTS, BSCi/ BSC2i, BTSplus BTS, Talk Family BTS.

D. Talk Family BTS, BSCi / BSC2i.

Correct Answer: D
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QUESTION 15

What exactly does the Nokia Smart Resource Adaptation application software do?

A. SRA decreases the PS efficiency as more radio resources are reserved for signaling type of traffic.

B. Managing a needs-based resource allocation with shallow packet inspection for mobile devices with single-slot class.
C. Reduces the paging load up to 70 % in both Air and Abis interfaces.

D. Managing a needs-based resource allocation with shallow packet inspection for mobile devices with multi-slot class.

Correct Answer: D
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